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Answers for Lesson 4-6, pp. 237-239 Exercises

1. AABC = ADEF by HL. Both A are rt. A, AC = DF, and
CB = FE.

2. ALMP = AOMN by HL. Both A are rt. A because
vert. 4 are =; LP = NO,and LM = OM.

3. £T and £Q are rt. 4.

4. RX =RT or XV =TV

a
b.
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d.

e.

. = suppl. 4 are rt. 4

Def. of rt. A
Given

Reflexive Prop. of =

HL

6. Given that 2D and £B are right 4, AADC and ACBA are
right A by the def. of rt. A. AC = AC by the Reflexive Prop.

of

= and AD = CB is given. Therefore, AADC = ACBA by

HL.
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Def. of L

AMLJ and AKJL are rt. A.
Given
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HL
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Answers for Lesson 4-6, pp. 237-239 Exercises (cont.)

8.

10.
11.
12.

13.

14.

15.

16.

Given that HV 1 GT and GH = TV, then AIGH and
AITV are right A by the def. of rt. A. It is given that [ is the
midpoint of HV ,so HI = VI by the def. of midpt.
Therefore, AIGH = AITV by the HL Thm.

HL; each rt. A has a = hyp. and side.

x=3y=2
x=-1y=3
whether the 7-yd side is the hyp. or a leg

It is given that RS = TU, RS 1 ST, TU 1 UV, and that Tis
the midpoint of RV. ARST and ATUYV are both right
triangles by the definition of a right triangle. RT = TV by
the definition of midpoint. Therefore, ARST = ATUV by
HL.

1. JM = WP (given)
JP | MW (given)

JP 1 PM (given)
AJPM and APMW are rt. A (def. of rt. A)

PM = PM (Reflex. Prop. of =)

AJPM = APMW (HL)

PS = PT so 2§ = /T by the Isosc. A Thm.
/ PRS = /PRT. APRS = APRT by AAS.
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Answers for Lesson 4-6, pp. 237-239 Exercises (cont.)

18. ~ ] 19.

EB = DB; ZA and £C are rt. 4. (Given)
ABEA and ABDC are rt. A. (Def. of rt. A)
B is the midpt. of AC. (Given)

AB = BC (Def. of midpt.)

ABEA = ABDC (HL)

LO bisects ZMLN,OM 1 LM,ON L LN, (Given)
/M and £N are rt. 4 (Def. of 1)

LMLO = ZNLO (Def. of £ bis.)

LM = LN (Allrt. 4 are =.)

LO = LO (Reflexive Prop. of =)

6. ALMO = ALNO (AAS)

21.

i A W N =2 U &~ WDN=

22. Answers may vary. Sample: Measure 2 sides of the A formed
by the amp. and the platform’s corner. Since the A will be =
by HL or SAS, the 4 are the same.
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Answers for Lesson 4-6, pp. 237-239 Exercises (cont.)
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b. slope of DG = —1; slope of GF = —1; slope of GE = 1
¢. LEGD and ZEGF are rt. 4.
d. DE = V26, FE = \/26

e. AEGD = AEGF by HL. Both A are rt. A,
DE = FE,and EG = EG.

24. An HA Thm. 1s the same as AAS with AAS corr. to the rt.
Z,an acute Z, and the hyp.

25. Since BE L EAand BE 1 EC, AAEB and ACEB are
both rt. A. AB = BC because AABC is equilateral, and
BE = BE. AAEB = ACEB by HL.

26. No: AB = CB because AA_EB = ACEB, but AC doesn’t
have to be = to AB or to CB.
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